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QUESTION 1

Which of the following regarding BGP confederations is FALSE? 

A. The entire confederation is viewed as a single AS by an eBGP peer. 

B. Within a confederation, each member AS is considered as a stand-alone AS. 

C. Member ASs within a confederation can use route reflection. 

D. Member ASs must be fully meshed within a confederation. 

Correct Answer: D 

 

QUESTION 2

Click the exhibit. 

AS 65550 owns CIDR block 10.64.0.0/12. Router R6 advertises the aggregate 10.64.0.0/12 to AS 65541 with "as-set"
enabled. Which of the following is TRUE regarding the aggregate route received by router R7? 

A. The AS Path is set to 65540, and the Atomic Aggregate flag is set. 

B. The AS Path is set to 65540 65550, and the Atomic Aggregate flag is set. 

C. The AS Path is set to 65540 65550, and the Atomic Aggregate flag is not set. 
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D. The AS Path is set to 65550, and the Atomic Aggregate flag is not set. 

Correct Answer: C 

 

QUESTION 3

Which of the following messages is NOT used in T-LDP operation? 

A. Hello message 

B. Init message 

C. Keepalive message 

D. Label Mapping message 

E. ACK message 

Correct Answer: E 

 

QUESTION 4

Which of the following statements regarding BGP FRR is FALSE? 

A. The router must receive several BGP routes to compute a backup path. 

B. BGP FRR can be triggered by BFD. 

C. The backup path can use the same next hop as the primary path. 

D. BGP peer-tracking can be used to improve BGP FRR failure detection times. 

Correct Answer: C 

 

QUESTION 5

Click the exhibit button. 

4A0-C04 Practice Test | 4A0-C04 Exam Questions | 4A0-C04 Braindumps                                3 / 4

https://www.passapply.com/4a0-c04.html
https://www.passapply.com/4a0-c04.html
https://www.passapply.com/4a0-c04.html


https://www.passapply.com/4a0-c04.html
2024 Latest passapply 4A0-C04 PDF and VCE dumps Download

Router R2 advertises the network 192.168.3.0/24 to router R1 via OSPF. A route policy has been constructed to discard
the route on router R1; however, it is not working. What is the problem? 

A. The prefix list reject should be "192.168.3.0/16 exact". 

B. Router R1 should be configured as an OSPF "asbr". 

C. The policy "reject" should be set for import rather than export. 

D. The policy was likely not "committed" after creation. 

E. This is not possible because OSPF cannot use import policies. 

Correct Answer: E 
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